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Find the cube roots of the following:

1) 2197 2) —3375 3) 33x 53 x 7°
—64

5) (4P = (7P =(-9)° 6) —

) (4P % (=7) % (-9) ) Toe

8) 0.729 9) 4.096 10) 19.683

Find the cube roots of the following by factorisation:
1) 1728 2) 5832

Find the length of the side of a cube of volume 4096 cm?®.

4)

7)
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A metal block has dimensions of 9 cm x 9 cm x 9 cm. It is to be melted and made
into smaller cubes of side 1.5 cm = 1.5 cm x 1.5 cm. How many cubes can be made

from the bigger cube?

Complete the table.

MNumber Cube

Property satisfied by the cube number

1) 15

2) —27

3) —

) =

5) 2x8

6) —4x5




A. Find the digit in the ones place in the cubes of the following numbers.

1) 12 2)23 3) 34 4) 655) 78

B. Find the cubes of the following numbers.

1) 19 2)21 3) -25 4)2.25

C. Find by prime factorisation whether the following are perfect cubes or not.

1) 8000 2) 3375 3) 4) 11,664 5) 6859

D. Find the least number by which the following numbers must be multiplied to make
them perfect cubes.

1) 675 2) 3087 3) 5324 4) 972 5) 968

E. Find the least number by which the following numbers must be divided to make
them perfect cubes.

1) 24,000 2) 21,296 3) 10,125 4) 8640 5) 64,827
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Determine the cube roots of the following numbers.

-215 2744 93 303
1) — 2) —— 3) 2— 4) 6——
2197 4913 125

Evaluate the following.

{1331

1) 3300 x 30 2)

V1728

The area of the base of a cuboidal box is 36 cm?. If its height is 6 cm, how many dice
of side 1 cm can be placed in it?

3) /0.000125

If the side of an open cubical box is 3.25 cm, how many litres of air does it contain?
(1 litre = 1000 cu. cm)

A metal block has the dimensions of 4 cm % 5 cm x 8 cm. It is to be melted and some
more metal is to be added to make a bigger block. What is the minimum volume of
metal that should be added if the dimensions of the block are to be integer values?
What is the minimum volume of metal that should be removed to make a smaller
block with integer dimensions?



